—ztuy
T iE & Al i | O Bl & = W E
ERET =® 1
+ T % 1
A T8 m3 70 69
KLIERNET m3 70 69
EET % 1
®YIVYU—bT| 18-3-258B t=10em(BEEa o Y—F) | M2 680 677
FHEEM T #® 1
PHEEM T #® 1
EMLEMT | +oma 4gE—L® 11100 R/S2om | M 102 102
HET = 1
WET = 1
RET (HE) BABHEFAI>(13) t=hom | M2 3, 650 3, 645
REL(EA) BATHE7 A3 (13) t=fem | M2 150 150
RET (HE) BATHE7 AT (13) t=3em | M2 2,170 2,169
HET BAMBET 23> (20) t=5cm | m2 3, 650 3,645
LREBET FIEESRERE M-30 t=15cm m2 1,690 1,689
TEBET BAYBARE RC-40 t=35cm m2 1,690 1,689
BT BAYARE RC-40 t=10cm m2 966 966
LRERET HIEESREA W30 t=10cm m2 58 58
TEERET BAEYHAREA RC-40 t=14cm m2 58 58
2vH Y- MEEEIET 18-8-25BB _t=10cm m3 6 6
XERT = 1
XERT =® 1
BRI R ER B W=15cm m 1,060 1,059
BRX R ER ERE#R  W=15cm m 190 189
BRI R ER B4 W=30cm m 11 11
ARMARER B34 (£°7°5)  W=450m m 49 49
BARMARER | mog & - 28 - X W=15emiE | n 64 64
ft T =® 1
EBRABRET % 1
BeH
RIRFEEFET mmE & a8t (AR =)
SB-BWEIZ S LIt ® 178 178
BRERT = 1
BRMEZET i & 54 54
EEYHET % 1
BEYRIET |EHaLHY—F ' 6 6.0
BEHRLET mEGHaLHY— '’ 6 6.0




T I #%H = & 5 X
£ g b3} 1% B = |
+ T % 1
YR +5 m3 69
5%+ E LI T m3 69
SEET % 1
ggRa>o)— I 18-8-25BB t=10cm(BFEa o \J— k) m2 677




T I & & & FE & 1LY

s W § CEE % B B
+T
T EHEELY
£ Al 69.0 = 69.0 69 m3
KL EMRME  169.0 = 69.0 69 m3
EET
w®aH )— kI |L{EI+RAE
= 676. 1 677 m2

(18-8-25BB) 336. 7+339. 4 =
(t=10cm)
BFFEaVY U—1F)
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fF & Mt T % £ i X
£ 1 iR % Bl #% = | &
BhEEM T = 1
BRYERHIEMR T | £ ehEsA 4B E— L H=1100 R/¥13m m 102.0




S = =
2 = i =
58 & £ .
2 W o lm ] ®m B
= E 5
EEEBSIEHT |No. 31 No. 36 + 6.0l 2| m 102.0
T hEA
AR E— LB
H=1100 /% >3m
& B m 102.0




B EIH = i o=
% 5 o) % B fr] = | &

ET Fa 1
REL(FE)| HBEFMET7ZX22(13) t=bem m2 , 645 @
REL(FEAN| BEFEHMET7ZX22(13) t=bem m2 150 @
REL(GE)| BEEMET7ZX2203) t=3cm m2 , 169 ®
EEI| BEMHMET7XI2(20) t=bcm | m2 , 645 @
ERERET FIE A M-30 t=15cm m2 , 689 ®
TRE®ET BEYLARA RC-40 t=35cm m2 , 689 ®
RART BEYLARA RC-40 t=10cm m2 966 @
ERERET FIEERA M-30 t=10cm m2 58
TRERET BAEULARSR RC-40 t=14cm m2 58 ©)
avy)— MEEFEIRT 18-8-25BB t=10cm m3 6




gET Gt & E0
£ b H) =1 = H 2 (B ® B
KETL HEHETQ)
(BETMET 2 (h) NO. 24~N0. 31
a2 (13)) 8.00x140.0 = 1,120.0
t=5em (F1) NO. 43~N0. 43+6. 95
1/2 % (8. 70+9. 00) x 6. 95 = 61.5
(h) NO. 43+6.95~NO0. 46
9.00x53.05 = 477.5
CADIZ&d (&) NO.24+7. 04 = 14.9 EEHET (1)
CADIZ& % (FH) NO.24+7. 04 = 14.9 1,688.8
HEHET (2
() NO.31~NO. 41+11.95
8.00x211.95 = 1,695.6
() NO.41+11.95~N0. 43
1/2 x (8.00+8. 70) x 28. 05 = 234.2
CADIZ& % (&) NO.37+3. 24t = 13.2 EEHET ()
CADIZ& S (F) NO.37+3. 24+ = 13.2 1, 956. 2
&5 = 3,645.0[ m @
FAHZET)
CADIZ& D (&) NO.43+13. 0k = 23.0
CADIZ& D (Z) NO. 45+5. 0ftik = 23.0 FEASET (1)
CADIZ& D (H) NO.43+11. 048 = 12.0 58.0
FAHET Q)
CADIZ& D (&) NO.32+2. 243k = 12.0
CADIZ&3 (Z) NO. 36+8. 01t = 12.0
CADIZ& 3 (&) NO.39+18. 913k = 12.0
CADIZ&3 (F) NO.35+7. 24 = 11.0
CADIZ&3 (F) NO.36+1. 144K = 11.0
CADIZ& % () NO.36+12. 04 = 11.0
CADIZ& S (F) NO.38+7. 61FiE = 11.0 FEABETQ
CADIZ& 3 (F) NO.39+10. 64FiE = 12.0 92.0
& it = 150.0 | m ®
(BrEgy 2 [FERET D
a2 (13) (%) NO.24+12.0~N0. 31
t=3om 2.78x128.0 = 3558
(%) NO.43~N0.45+18.0
2.78x58.0-(23.0x2) = 115.2
CADIZ& S (&) NO.24+12. 0fF3k = 6.1
(#/) NO.24+12.0~N0. 31
2.56x%x128.0 = 327.17
(#/) NO.43~N0. 46
2.78x60.0-(12.0x 1) = 154.8 SEEHET (1)
CADIZ& S (F) NO.24+12. 0fiE = 6.1 965. 7




WET it B EQ
% Lo it -1 = H 2 (B & B
HEMHET (2)
(Z) NO. 31~NO. 36+18. 8
2.78x118.8-(12.0x 2) = 306. 3
(Z) NO. 37+3. 7~NO0. 43
2.78x116.3-(12.0x 1) = 311.3
CADIZ&% (&) NO.36+18. 84t = 6.1
CADIZ& % (&) NO.37+3. 74k = 6.1
(&2) NO. 31~NO. 36+18.8
2.56x118.8-(11.0x3) = 271.1
(&8) NO.37+3. 7~N0. 39+2.0
2.56x38.3-(11.0x1) = 87.0
(&2) NO. 39+2.0~NO. 43
2.78x78.0-(12.0x 1) = 204.8
CADIZ&% (H) NO.36+18. 84t = 5.5 SUEHETL Q)
CADIZ& % (FH) NO.37+3. 74tk = 5.5 1,203.7
it = 2,169.4| m ©)
HET
(A MRSET X KEIGE HEHEOD Q&HOKY
a2(20)) &t = 3,645.0( m @
t=bcm
LERET REIME =HafmE(astsy
(FIERRAR) &5t = 1,688.8| mi ®
M-30 t=15cm
TREHRET REIHE HESEODAHKY
(BEYARR) &i = 1,688.8] mi ®
RC-40 t=35cm
BRAET REBIHE SESHENEHKIY
(BEYARR) &5t = 965.7| m @
RC-40 t=10cm
LERET REIGE FAGEDEFHIY
(HIARAR) CHEE 58.0| nd
M-30 t=10cm
TRERET REISHE FASEODSAHKY
(BEYARA) it = 58.0| nd ©)
RC-40 t=14cm
aVvy)— MEERIAT
18-8-25BB A=130.0xW2.0xt0. 1 = 6.0 m’




X B & T % & & 5 %
% 5 o) % Bl E| B =
XE#RT = 1
Bt X ERR E3E#  W=15cm m 1,059 ©)
B W=15cm m 189 @
HE# W=30cm m 11 ®
HE# (& 77 W=45cm m 49 @
BHE# (X - 385 - XF)W=15cmif & m 64 ®
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3 = —
M = FH =
381 x| .
% # S =R v = = &
= E 5
EFCE Y]
(95268 W=15cm) [No. 41 + 12.0|No. 46 pk| m 88.0
HiES AR
(=& W=15cm) [No. 24 No. 31 £ | m 140.0
No. 31 No. 46 £ | m 300. 5
No. 24 No. 31 £ | m 140.0
No. 31 No. 46 £ | m 301. 5
HEERE
(95268 W=15cm) [No. 41 + 12.0|No. 44 + 7.0lchs| m 5.2
No. 44 +  7.0/No. 46 pk| m 33.4
& 7 m | 1.058.6 |®
HEDRE
(B8 W=15c m) [No. 24 No. 31 pg| m 70.0
No. 31 No. 41 + 12.0/ds| m 106. 0
HEERER
(B985 W=15cm) [No. 43 + 1.0|No. 44 + 7.0lch| m 13.0
= g m
180.0 |@
REHRYVOARAT—Y
(BZE# W=30cm) |No. 24 + 7.0 BHR| m 2.8
(T=)
No. 24 + 7.0 k| m 2.8
No. 37 + 3.2 k| m 2.8
No. 37 + 3.3 k| m 2.8
& 7 m 1.2 |3
£IJ5
(9248 W=45cm) [No. 41 + 12.0|No. 44 + 7.0lchs| m 48.9
= g m
89 |@
EFE X
( W=15cmiaZ) ) [No. 41 + 16.5 |l m 9.2
No. 42 + 6.6 £ | m 9.2
No. 44 + 9.8 £ | m 9.2
No. 45 + 17.0 £ | m 9.2
B &
C (E150mia) ) [No. 41 + 16.5 £ | m 6.7
No. 42 + 6.6 £ | m 6.7
No. 44 + 9.8 £ | m 6.7
No. 45 + 14.4 £ | m 6.7
& 7 m 63.6 |®
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it & T $% & & & =
% 5 o) % B | 4 = | &
B R AT
2aH
BEFUHERET | MERS G5EH) BBIEESLE| (@ 178
BRAT e 1
BRABET # & 54
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H & A 2
38 = £ |
£ 1 - |B = & =
= -3 =
RGP EFRRET
C-Z=1::) No. 24 No. 46 x| @& 89 440.0 m
i & 5 (Bt =)
SB-BWRIZ @I L |No. 24 No. 46 £ | @& 89 440.0 m
& 7 & 178
BRMHZEL
(#10) No. 31 No. 43 k| & 27
No. 31 No. 43 5| & 27
FAS =
[ =] A $ 54
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W E=I %= i ox
% # 1R 1 By B8
BEYHRET
BEYIIET |EEI LY — b m3 6
BROEHRANIET W|EGOUH ) — k m3 6
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(#&# Co)

V= 6.0

B = I & & & E & =D
% 71 § =1 = = |BA| &
BEYREL
EEYEIRT
EHEEY
(t=10cm) V= 30.0 x2.0 x 0.1 = 6.0 [ m3
EfRANET
RIE AR
= 6.0 [ m3
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